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NEET MICRO TEST 3 (13.11.2024) 20x4=80 MARKS

Botany: Plant Kingdom, Zoology: Biomolecules
Chemistry: Classification of Elements & Periodicity in Properties, Physics: Motion in a Plane
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1. Cytotaxonomy is based on
1) Chemical constituent of plants
2) Phylogenetic relationship
3) Cytological information
4) Chemical nature of proteins

2. Phycoerythrin is found in red algae such as

c. Sphenopsida

(iii) Dryopteris

d. Pteropsida

(iv) Equisetum

1) aii), b(i), c(iv), d(iii)
2) a(i), b(ii), c(iv), d(iii)
3) a(ii), b(i), c(iii), d(iv)
4) a(ii), b(iv), (i), (i)

4. Heterospory is the production of
1) Same type of spores
2) Sexual and asexual spores
3) Two types of spores
4) Haploid and diploid spores

5. Stored food in most of the members of green algae
is
1) Floridean starch
2) Starch
3) Mannitol
4) Laminarin

6. Acid insoluble pool of the slurry contains all of the
following, except
1) Lipids
2) Simple sugars
3) Proteins
4) Nucleic acids
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1) Ulothrix 2. ouBasmfigflesr _ Gumep  Heulny umfseied
2) Kelps CACOIEICE
3) Laminaria 1) wGeorgleerd
4) Gelidium 2) Q6001610
3) BeuLAlGeurflum
3. Match the following 4) GizgeSiguib
Classes Examples
a. Psilopsida (i) Selaginella 3. aeueuaTeuBamBl GUIThSSeLD
b. Lycopsida  |(ii) Psilotum UGULBeT 2D GImIS6T
a. enFeurgILT

(i) QFevedGeaeveur
(i) emwaGsomt L 1b

C. ervemmiidm | (ii1) 9enguwmiGLferd
d. Qugmifr  |(iv) mé@&eudGLID

1) a(ii), b(i), c(iv), d(iii)

2) a(i), b(ii), c(iv), d(iii)

3) a(ii), b(i), c(iii), d(iv)

4) a(ii), b(iv), c(i), d(iii)
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7. Which is the most abundant protein present in the

whole of the biosphere?
1) Cellulose

2) Collagen

3) RuBisCO

4) Keratin

8. Select the odd one from the following given graph.
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Progress of reaction
1) In the presence of enzyme the activation
energy is reduced.

2) Reduction in the activation energy leads to an
enhanced speed of the reaction thereby
converting substrate into products at a much
faster rate.

3) When enzyme is absent, there is more amount
of product formed.

4) When substrate binds to the active site of an
enzyme, transition state structure is formed.

9. Complete the analogy and choose the correct

10.

11.

option.
Myoglobin : Tertiary structure:: Haemoglobin :

1) Quaternary structure
2) Tertiary structure
3) Primary structure
4) Secondary structure

According to Watson-Crick model, pitch of B-
DNAis___

1) 34 nm

2) 3.4nm

3) 340 nm

4) 0.34 nm

The lowest value of negative electron gain
enthalpy among the following is associated with
1) Lithium

2) Sodium

3) Potassium

4) Caesium
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BTG Genmilesr : cLPSBIBIDHIEN60 DIeHLOLIL]
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Tl geir-&lflé wrdfluier Ly, B-DNA aier ¢
sl Somb___

1) 34 nm

2) 3.4 nm

3) 340 nm

4) 0.34 nm
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1) 68 &b

2) Gamguib

3) Qum’Lmduid

4) b
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Match the following.

a) Alkali metal (i) ns’np?

b) Alkaline earth metal|(ii) ns*

¢) Transition metal  |(iii) (n-1)d**%nst2
d) Pnictogens (iv) ns?

Choose the correct option.
1) a(ii), b(iv), c(i), d(iii)
2) a(ii), b(iv), c(iii), d(i)
3) a(ii), b(iii), c(iv), d(i)
4) a(iv), b(iii), c(ii), d(i)

Statement-1: Chromium and copper both have
exceptional electronic configuration.
Statement-1l: Total number of d electrons in
copper and chromium are 10 and 5 respectively.
1) Both statement | and statement 11 are correct
2) Both statement | and statement 11 are incorrect
3) Statement | is correct but statement Il is
incorrect
4) Statement | is incorrect but statement Il is
correct

Which of the following has the highest second
ionisation enthalpy?

1) Li

2) Na

3) Al

4) Be

IUPAC name of the element having Z = 108 is
1) Unnilhexium

2) Unniloctium

3) Ununtrium

4) Ununoctium

If the resultant of two vectors, where one vector
is double in magnitude than the other, is
perpendicular to vector of smaller magnitude,
then the angle between the vectors is

1) 160°

2) 135°

3) 120°

4) 150°
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a) &y 2 Geursld (i) nsnp?

b) sy wewt 2 Gevresid (i) nst

C) @mLBemev seafiwomisar|(iii) (n-1)d*0ns!-2

d) MéGLTe6bE 61T (iv) ns?

1) a(ii), b(iv), c(i), d(iii)
2) aii), b(iv), c(iii), d(i)
3) agii), i), c(iv), d(i)
4) a(iv), b(ii), c(ii), d(i)
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1) apu | wBpiId spu | Bgesih Fflwmearene
2) gamml | wopmib spul 11 yewiB Seuprearene
3) gnmml | sflwneng eyenmed gmmml | Heupregi
4) gapml | seupresia uenmed gmmml | Ffluimerg)

UelleuheusdiouBpled  61g DiFHd  BTewiLTeug
SHIWSTNWTSHBLD 6T HTe0LNemUIS ClbTemT(HeiTeng)?
1) Li
2) Na
3) Al
4) Be

Z =108 Qarewi_ saiwgder IUPAC GQuuwiy
1) Unnilhexium

2) Unniloctium

3) Ununtrium

4) Ununoctium

®yewih OeudLJHeflenr  eepslelr  6TIOTLOSILIL]
LBOBTEMSeT  6TeRIHILDHE —E(HLOLMISTHLD,
Aoupplent  OBHTGHUWT QeUbBLITRIH  GHMDBHSD
GTENTLOGILIL QebITeunTL QUL (HbE
CFRIGHHBHTHA|LD SIMLOH STV, LYRTON;)
CousbL THEhHE enL Ll L Csmenid wimgl?

1) 160°

2) 135°

3) 120°

4) 150°
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A particle is thrown with speed 'u’ at an angle of
projection '0" with horizontal as shown in figure.
Choose the correct statement.

1) Average velocity during O to D is u cos 6

2) Average velocity between A and C is u cos 0

3) Vertical components of velocities at A and C
are pair of opposite vectors

4) All of these

The speed at the maximum height of a projectile
is half of Its initial speed of projection (u). The
horizontal range of the projectile is

A man moves on a horizontal road towards east
at a speed of 1 km/h and the rain appears to him
falling vertically at a speed of 2 km/h. The actual
speed of the rain is

1) 1 km/h

2) V2 km/h

3) V3 km/h

4)\/5 km/h

If the equation of trajectory of a particle in
vertical plane is y = ax — bx?, where a and b are
positive constants, then angle of elevation of
highest point from the point of projection is

1) tan™! (a)

2) tan ' (%)
3) tan’! (b)

4) tant (S)
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DG 1D
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1) 1 km/h

2) V2 km/h

3) V3 km/h

4)v/5 km/h

CemIGHSHH HNMHH60 2 66Nl @ HiGH6r 6ot
Lrensuiler FweatLT® Y = ax — bxZeefled, a BBID
b eydwenen GBwemm MHlelsenTe B mHbHTev,
epslwiiiuc L yemefulled bl o wiphs Letefullesr
gmpaeGamenntd
1) tan™* (a)

2) tant (%)
3) tan’t (b)

4) tant (g)
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